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EF // AB ©]E& ABEF = ADEF = AADE
DF // AC ©]2& ADCF = ADEF = AADE
ADFH + ACFH = ADFH + ADEH
. ACFH = ADEH
ABIF = ABEF - (AEGH + oFIGH)
= ADCF - (aDGI + oFIGH)
= ACFH

.. ABFI + ACFH = 2ACFH = 2ADEH
= 2(ADEF — ADGI - ADEG)
=2(2+4) =12
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.~ﬁ+ﬁ+m+P—:4§cmom.
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A D

AACE = %AACD = % X %DABCD =15

AAPC : AEPC =2:1 90|22
AAPC = ;AACE = ; x 15 =10
AAPQ : ACPQ =1:1

. AAPQ = %AAPC = % x10=5
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AAOB = g x AABD = 54

ojm] AABD = AACD ©|E&

AAOB = ACOD = 54
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54: ABCO=2:3 ..ABCO =81
(MIAZHEE O] Yol) = 54 + 54 + 81 = 189




